PRYALE—

BAfE B £ 1034075188 BEH Y1) —BRHN\ERT—R
=72 K % OUT | IN | GR | HDCP | NET wE JIE 45z K % OUT | IN | GR | HDCP | NET -5
B A Hi a1 41 | 6.0 |35.0 51 k% B 49 | 49 | 9.6 |39.4
KB L R 47 47 112.0 | 35.0 52 | K& & 43 | 43| 3.6 |39.4
3 HuE & 39 39 | 3.6 |35.4 53 |th3 AR 48 | 48 | 8.4 39.6
4 |giE = 51 | 51 | 15.6 | 35.4 54 |Ft# IERR 42 | 42| 2.4 139.6
5 |ME it 51 51 | 15.6 | 35.4 55 |5 4 46 46 | 6.0 | 40.0
6 |Bus & 39 39 | 3.6 |35.4 56 %M Kk 48 48 | 7.2 | 40.8
1 NE RBE 39 39 | 3.6 |35.4 57 RSN MR 52 | 52 |10.8 | 41.2
8 |hH XB 44 | 44 | 8.4 |35.6 58 |KF @z 54 | 54 | 12.0 |42.0
9 |#h RA= 43 | 43| 7.2 |35.8 5 &8 & 48 48 | 6.0 | 42.0
10 WE 48 | 48 | 12.0 | 36.0 60 |=iE HES 64 | 64 |21.6 |42.4
11 it B= 48 48 112.0 | 36.0 61 |FH —ER 59 59 | 15.6 | 43.4
12 st BEER 46 | 46 | 9.6 | 36.4

13 @)l @k 46 46 | 9.6 | 36.4

14 |BfE EEB 45 | 45 | 8.4 |36.6

15 |F@ B= 45 45 | 8.4 |36.6

16 B3 EE 50 | 50 | 13.2 | 36.8

17 B # a4 | 44| 7.2 36.8

18 |5 R 43 | 43 | 6.0 |37.0

19 %88 BAX 43 43 | 6.0 |37.0

20 |HE ES 43 43 | 6.0 |37.0

21 | E=EX 42 | 42 | 4.8 [37.2

22 |7reh RERE 48 | 48 | 10.8 | 37.2

23 & %7 48 | 48 | 10.8 | 37.2

24 |HE 33k 53 | 53 | 15.6 | 37.4

25 Il = 53 | 53 | 15.6 | 37.4

2 LT ZH 46 46 | 8.4 |37.6

21 |HEt 3BE 51 | 51 | 13.2 |37.8

28 | &— 45 | 45 | 7.2 |37.8

29 3@ 45 45 | 7.2 |37.8

30 W gE 51 | 51 | 13.2 |37.8

31 | B 50 | 50 | 12.0 | 38.0

32 |k AR 56 56 | 18.0 | 38.0

33 =@ UfE 44 | 44 | 6.0 |38.0

34 |#% == 50 50 | 12.0 | 38.0

35 Bk HE 43 | 43 | 4.8 |38.2

36 |MA S 55 55 | 16.8 | 38.2

37 &K &7 43 | 43 | 4.8 38.2

38 M B 48 | 48 | 9.6 |38.4

39 it B— 42 42 | 3.6 |38.4

40 |53 —E 42 | 42| 3.6 |38.4

M |wx 2 53 53 | 14.4 | 38.6

2 |AEE EX 46 46 | 7.2 |38.8

43 BB | 52 52 | 13.2 | 38.8

4 |En BB 58 58 | 19.2 | 38.8

45 s Bk 45 45 | 6.0 |39.0

46 BB HE 51 51 1 12.0 | 39.0

4 Br E— 45 45 | 6.0 |39.0

48 |BE 50 | 50 | 10.8 | 39.2

49 MK R 50 50 | 10.8 | 39.2

50 [fFME T3 50 50 | 10.8 | 39.2
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